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There is 'Cool off time' of 15 minutes inaddition to the writing time of 2 hours. \
Youare neitherallowed to write your answers nor to discuss anything with others during the 'cool off time'.
Usethe 'cool off time' to get familiar with questions and to plan your answers.

Read the questions carefully before answering.

All questions are compulsory and only internal choice is allowed.

When you select a question, all the sub-questions must be answered from the same question itself.
Calculations, figures and graphs should be shown inthe answer sheet itself.

Malayalam version of the questions is also provided.

Scores are given in brackets against each question.

Electronic devices except nonprogrammable calculations are not allowed in the examination hall.
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Which one of the followings is NOT | 1.

matching with others? State the reason.
(CU, RAM, ALU, Registers) M
Identify the number system which is
used to store very large numbers.

a. Octal c. Hexadecimal

@

b. Binary

Following are steps in data processing.
Arrange them in proper order.

a.Saving data  b.Produce information
c. Inputting data d. Processing data (1)

@00% MM&1V10lee)MAUIT3 AUy ITOO®
aEIBOMN® af@? &HO0EMo af) M) b.
(CU, RAM, ALU, Registers) @)}

860 Al MG (IGIMIW1e:0lee)
QI03 a@Qaljo EPMEWOR AW MaUE avlgyo
QRO ?

a. Octal ¢. Hexadecimal

1
awoQo elloauqilowleel allallw caigesud
OO H»OSOTIBERIM). BRAOW VOBIWIW
1IN B8 (H260q|S;TN ag) $}O .
a.Saving data  b.Produce information

c. Inputting data d. Processing data (1)

b. Binary



10.

(@).

Pick out the correct form of cell
references from the following list:
($A5, $A55, A55, SASH) M
A communication device is placed in an
office. It needs to transfer data to five
other devices placed within 50 meters.
The devices are not placed in line of
sight. Select the most ideal wireless
communication technology from the
folowing for the above case.

(Wi-Max, Bluetooth, Wi-Fi)
HTTP stands for .

(D
@

Coding systems that use 7 or 8 bits are
now a day not sufficient for representing
all characters. Name a coding system
that can solve this problem effectively
and write its features. ()

As part of seminar a student wants to
advance the slides in a presentation
automatically after a pre-defined time.
How can she do that? ()

A student entered the following data in
a worksheet.
12/5/2014, Computer, =A2*B5, 125,
10:30:00 AM.

Identify the type of each data. 2

Answer any one question from10(a) and
10(b).

Ravi opens an image of his school
building in GIMP software. The image
has less clarity. He wants to improve the
clarity. How can he achieve that? (2)

OR
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10.

(@).

n0eegled mlanjo VOO HIVE3 Oan
OMAVIEHUD ag)S)OTH L} .
(5A5, $ASS, A5, SA$D) 1

WOQO BHERLEMIBHOHM) BAINE] B30} 830an]
o3 80) Daldoemo (aludowylenamyens.
@13 WMo af>»GBUoe 50 m 3)e0wie)sSs
ag @RI DaldOsMEBSIGRIN IR0 @R
CEOBMIW g erE. D@IMealenE] agQano
@RMCWIR LRIV BHANYETIGHNAHT HSES:ENO
s8] OO0 6D S} BN .

(Wi-Max, Bluetooth, Wi-Fi) (1)
HTTP @)0s andep @yalo @Rye.
@)

7 @0 8 @o NQIdhud DalCWOWlae;aM
GO0l TUMIBIWEIBUD DSHILITT) af)LI0
@ROHOBBSB)0 (A IGIFILOMo &aIQAINB aldyo
oj@%. (UM al@la02o2dW] anelal3aowl
DGo|0Ud QalcWOWla] QAIO}AM 26Q00)
¢ 0UWlodd MUIQU@HNDTG Gald ag)F)m)d. DD
o @I 1TSS (A ICD §&@d:08 AilaIvles) s

2)
80) allaodLal equalmod msemyaala) slide
presentation ®Qo0oss] slide show ea1q)
¢oud 80) Ml MaOWIM GUdaHo
80600 HOTVALGB)0 3065020516901 200l
2901 A BRWIUT @ adlenym). o)
2)

®06% MTHIVClHHaN DOOVIENS8s WIQ

MO )M 62 IGQENO)?

80} ailayodidl worksheet @8 coealeq|s;O0].
DD AWIQHUE B0GEIMI0 oB@ afleow
ONBBOQSIAN} Af)HANL; ).

12.05.2014, computer, = A2 x B5, 125, 10:30:00
AM. 2)
10(a), 10(b) agam1 ca103363BENG3 B ®
aleno sala) 2OMOo af)e}®ds.

oall meg Md)Flead allimo GIMP 9alewo
o] @0aMea 008 RN QYEM@ @010
eoanl. GIMP ¢muoad@eniwd 9aleowla]
DD 2l@OD]OG AUIED® O 2]0q SO
@D ) §alQoo? 2

(cnaa%aa;laﬁ



(b)

11.

12.

13.

14.

15.

16.

17.

18.

. A student opens a GIMP file with an
image of paddy field. She wants to give
the effect of rising sunin the image. How
is it possible? 2
How does Lasso tool differ from Fuzzy
select tool in GIMP? ()

A student working with a GIMP file
named flower.xcf wants to change it to
Sflower.jpg. How is it possible? ()
What is meant by Telemedicine? Write
advantages of such a system. 2

An electronic device is needed to
connect computers with telephone lines
for communication. Identify the device
and write its functions. ()

'‘Broadband connectivity is better than
Dial-up connectivity for Internet
connection'. Do you agree with this
statement? Justify your view point.  (2)

Anitha is working with a workbook of
Spreadsheet program in which there are
3 sheets. She needs one more sheet to
enter data and wants to change the name
of the first worksheet to 'DataSheet’
instead of 'Sheet1'. Write the steps to
satisfy her needs. 3

In a worksheet, the cells A1, A2 and A3
contain three numbers. A student wants
to find the biggest of them using a built-
in function.

(@) Write the name of the function. (1)

(b) Write the usage of the function to
get the result. 2

Compare the logical function in
Spreadsheet software AND(), OR() and
NOT() with examples. 3)
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(b).

11.

12.

13.

14.

15.

16.

17.

18.

80} ailajodiol emamdaiweilo ailimo GIMP
9aleIwla] ®MOMM). D 2loOWc 93
MO Dand:S MBSO ag)sBBom(2)

GIMP earuoangeaidled e1nervd 5830 anqyl
51810 ag)EBBOM A IOMVSaSIBleemm(2)
80) aflayoditless @om GIMP @3 mldezlay
flower.xef agyam an@®d flower.jpg agyam o1l
OOIGEIHe) BOQIAIOM of)EBBHM TVOWlEe)0?

oselloaaslaila of)anoad o ? D@Iead
2)

&HTULS00 OSeilGandem earIM)o @aXIG]

CQMBHUB af)OaMELI00?

enIaTWla {169 M@IMIQI W0 20 Meld GS)
6l DaldEEMOMON Galooe)@ @PTe3
)

DMBOMG 2IGLA0H6 MG WL @-@Ra] 0l

lalIBOmMo AilUdBA0HR)dh.

CRHOUD Adraf® GENIOASENIOGos). (MleaBud
DD (A ITBMOAUM @RM)E)ElenIMm)Geneo? milsen
2)

@RWIDE @OM DalCWIUTa] OBIMEITlee;aM

8)9S GREII0Wo TVOWEGBIEN)H:.

crﬁa)LnJaﬁoﬂd"lg Glalowodleel 80) AUdes
NYES1G3 TVOWOEEM wolWlenseodiloyam
2)M GalR)}BHU3H al)0G2 B®) MW Galsl
G2I@EOETo. AI(MBL! ERBIHOM GalR0W
'Sheet 1' a3 6a16 'Datasheet’ agyamoss] @0Q)
SO0 BASMo. A afEBHM TVOWLZIBH0
)
ey Worksheet @3 Al, A2, A3 agyaml eavens

o2 ailuoBR0ee)&:.

Slo3 U@ITV® TUoeIydUd MAISIDIS)eN:.
DD GIVIaNGHAVCIEE LIBLROW aNoUaHd
DaleWoula] maiwlad agQano aleilew maud
SHEENRO6Mo.
(@) DD aN0EBaHOMW CGalOOR) D). (1)
(b) om0 LIEWHIM D aNCUW3HM Do IGWO
Slesssre @1 af)$)m)d. 2
qUe(alod osﬂg“ @mooﬁgam@m@% eI 20l
5388 AND( ), OR( ), NOT( ) agan?
aN0WaHM)HOS OR0aDD6M TVadl®mo O

€)

@20 ©21Q).



19.

20.

21.

22.

23.

(a).

While working with a presentation file,
a student saw thumbnail of all the slides
in it.
(@) Identify the name of such a view.
@
(b) Write the names of any other two
slide views with features. ()

Consider the following terms related to
Internet. Explain how do they differ in
their application area?

Trojan horse, Phishing, Firewall 3

A person working as a salesman wants

to get higher education. But he has no
time to attend regular classes.

(a) Suggest a suitable type of study he
can adopt. ¢}

(b) Write and explain any THREE tools
used for that type of study. 3

Explain any three Blur filters in GIMP.
3

Answer any one question from 23(a) and

23(b).

Identify the toolin GIMP suitable for the

following cases:

(i) A student opens a picture file in
which there are three flowers. He
wants to change the picture with a
single flower without affecting the
picture quality. ¢}
Binoy opens a picture of a car. He
wants to change the height and
width of it. (D
(iii) A student opens the image of 25
coins placed one above another. He
wants to shift the top part of the
image to left side and the bottom
part to right without damaging or
breaking the image. ¢}

(ii)
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19.

20.

21.

22,

23.

(@).

(I TOGMoH D @mom‘“g@mc@cﬂ@% m1danla)
NV} DalCGVOIWIHNAN BRAITLEOIGS 630)
ailzgodidl agelo Slide &@yo 'thumbnail’ ®)al
O3 &06rmMyAIOM3 DSOS
(a) momeo 'View - 60 Gald &6e=om)e:.
1
(b) acgemmleno veE 'View' - 6 calo)o
(G BHDHB)0 af))D) . 2
DIBOMY0W] MNINLEH|S @6 M1
®lee)aN alB68BUE @RAIYAS (AIAGCHM® A
@3 agieBElom aly®L0TVealslclenyan)?
GSIRM Ba0o$aY, aflalodt, anwdainud (3)
oM@ 2oMo] GRILICMISNIM B0}
Ale®les Mm@ afl3}0eL0aVo BMHS)AIOM
@YAODENE. af)IMOTC3 @RWOUTHE TVLOWO

@M ROTVIHUB 2)66UM alClen)alom8s
e elgyomulel

(@) oY Aye®es GRMEWIRIAOW alOM
D
DEMO0 dOMOTWES DalEwWI W eno
OI88 @)D loM TLCEMEEBUD ag)P)®]
alluoBR0 B8 3

GIMP - agyam @moadgeainclcd e1g320w]

)

23(a), 23(b) ayam1 ca10335BSNG3 aBO®
aleno sala) 2OMOo af)e}®ds.

oo MI363U3lee) 6

(b)

sieg 'Blur filtter' alvwa1e:@lwe) .

®06% ailladlafleles)am quoa0aIoyeEBud aldl

ewoWla] armyewomiaow GIMP eer 503

oBODT) HOETROIME>.

(i) &0 allzyoddl 'Open’' paido nweilo
2)0M a)EOReS il ®eEBUE DenzoloyaM).
2 Il@OWIOTQ AUIBD® MatiSHa|SIOD
80 al)al 300 &oemoalam @l
DD 2N(@o ag)edBOM 20Q00. (1)

(i) enflemod @) oolead allimo 'Open'
Do 1B, @1y 2 Nooile also, aflodl agyrrial
2O )TN 62 IGQENRD) (1

(iii) 8@} ailzgodldl 'Open’' oaid® aneilo

@Rsyesl Qlajldlenan MmO S)dh
805 all®aoem O88®. 6N GaldeEl
2OAMM) MITIaN MV alll®ODIOR
2}B5UBEIN0 SGOMISIo & 1$EOWo Qlel
somogyo 'Shift' ea1d®) oo
a)SBBOM 29Q0 QAUDYOHIo. (1)



(b).

24,

25.

@)

(b)

OR

What is the need for creating layers in a
GIMP image? Write any two operations
on layers with brief explanation.  (3)

Following are some peripheral devices
of computer. Categorise them and
explain the usage of each.

(Touch screen, Laser Printer, Light pen,
Drum Plotter) ©)

Answer any one question from 25(a) and
25(b).

Briefly explain any SIX commonly used
communication devices. 6)

OR

Identify the name given to the way in
which nodes are physically connected
in a network. Explainany FOUR of them
with block diagrams. Also suggest the
mostideal one for your school computer
lab. 6
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(b).

24.

25.

(@)

(b)

(cnaa%aa;laﬁ

GIMP emoadgeaiolcd eeiwo)&81es
@YAUUYBH® a)DOOETHA  QlUB R0 &) .
HRIVO)H ST §21QOM ~IQIAM aBo®mErlelo
6N (A IUBOMETBUD o) L)) B> 3

SHTUNSOE! ailel Haldleanomd Wleeaav)
HBOS Galydhud IO M@dHIIclen)amny,
HOIHW BRMCWIV AW MEIHENSITF Do
@0la] 2806000 AlAIClE)d:.

(2] TOBIM, celrvd (add, eeelq ealdd,
((Wo Gloga) )

25(a), 25(b) aam 210335803 aBO®
aleno sala) 2OMOo af)e}®ds.

WOQY HAML)EMICHNUT) @RI LAIV]S) B

cBO®BIL0 @YO Daldr0eMEBABa| aflal

D). (6)
aneglaslod

80 ®HAULSE vojos eIWITE GMIW] & Ud
allallw dlelwled eaudain@o] sninla]l
SO MMM, DOMOOMITZ BDMOA) & UB
almyales)m @l M@ el oles)yam
GalOOM? agomesleljo Moel Alleud alll®
Madl®mo af)Py®] Ailvosmosnd. IlEBs)6s
Mud e10mil@d og@ ol@l@oem agQalo
@OElSHOR ORI dOEEON) . (6)



Answer Key

Qn. Indicator Split Score Total
No.
1. RAM. It is placed outside the processor. RAM - 12
All others are inside it. Reason - 12 1
2. c. Hexadecimal system 1
3. c-a-d-b 1
4. $A5 and $AS$5 are correct 12 score for each correct answers| 1
5. Wi-Fi 1
6. Hyper Text Transmission Protocol 1 1
7. Unicode. Only Unicode- 1
Features of Unicode - 1 2
8. Slide Transition = Advance Slide = Only menu name - 1
Automatically After. Set proper time and Completing all steps -1 2
click Apply to All Slides button.
9. Date, Time, Text and Formula Only names - 1
Proper classification -1 2
10(a) Using the filter named sharpen Only name - 1 2
Explanation/steps - 1
Or Or Or
10(b) Filter>Light and Shadow—> Lens Flare Only name of menu -1 2
Proper explanation - 1
11. | Correct differences between Lasso tool and 2 2
Fussy select tool
12. | Exporting GIMP files to required file format. | Only the term 'export'- 1
Explanation/Steps -1 2
13. | Correct definition and explanation of Only definition - 1
Telemedicine Detailing - 1 2
14. | MODEM. Functions of modem Only MODEM - 1
Explanation - 1 2
15. | Yes with correct justification Only Yes -1
Justification points - 1 2
16. | Insert = Sheet and Forma—>tSheet—=> Rename.| Correct steps/explanation - 2
Explanations. Only menu names - 1 3
17. | a IF(), AND() a. Correct function names-1
b. Correct definition of 1F() b. Correct function definition- 2 3
18. | Correct explanation of functions For each correct explanation - 1
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Answer Key

Qn. Indicator Split Score Total
No.
19. | a. Slide Sorter View a. Correct view name - 1
b. Any one from Notes Pages view, Outline b. Correct selection of any two
view, Handout view or Normal view with views with explanation - 2 3
explanation.
20. | Trojen horse - computer virus For each correct item
Phishing - Online identity theft explanation -1
Firewall - Security provided to software and | (1x3) 3
hardware.
21. a. e-Learning a. Correct name - 1
b. Any three e-Learning tools with brief b. Correct identification and
explanation. explanation of tools - 3 4
22. | Any Three Blur filters in GIMP with explanation. | For each blur filter - 1
(1x3) 3
23(a). i. Crop tool with explanation a. Correct identification-1
ii. Scale tool with explanation b. Correct identification-1
iii. Shear tool with explanation c. Correct identification-1
(1 x3)
Or Or
23(b) Use of layers and any two operations on layers. | Correct explanation-1
Brief description of operations-2 | 3
24. | Correct categorisation(Input and Output devices) | Categorisation only - 2
and explanation. Correct explanation - 3 5
25(a). ldentification and explanation of six Only names - 3
communication devices. Correct explanation - 3
Or Or 6
25(b) Topology. Explanation with block diagram of | Only the name Topology -1
any four Topologies. Block diagram,names and
explanation - 5 6
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M33latis muaOEONM alosn 15 AlMg ‘@)U 89a0 §8So 9MEOVITIEN0. D TLRVED G2I0BYEBBUTHEE
DOMOO af)FIMOCMI, AYBRAROW] @Yo AlNIawe MSEUMICMO ~loslel.

DOMOEBUE af)Py@yM@IN) MM 3a108y63Bu3 (U0RLANBYo AW lBeEMo.

af)2I0 GaldB6RUIEN)0 DOMAC of)P}Msmo.

80] GalN3IMMNIG DOMOORLIMIN HHMEVHETNSIOM SN0 DalEal0B|@RRBl0 @RED GaldByMM

glod WM ®HAN OO VHETMSIGBNETRDOE.

MBS H)FENDHUD, 2ll@6@BUS, (NN} W3, af)ITIA DOMOGaIOIBEMHMN 2EMEIWIGIBHEMo.

Gal0B6BRU3 DRINIBOWIE)e MGIeIwIg)ens.
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GeRNINHUB HaIQIMOIBHITW HIGIHNICRIQO)HUS BPOHWBH B0} MLISESIMIE: DaldhHO6Malo

al016:1192008108 DaleWIUllen0m@ loslel.

Fill up the blank box: 1. adleomyslsenam &M ahdlaflen)s.
| Data|—| —{ Information | (awog || | @adandeaaud |
1
(1) @)
1 TB (Tera Byte) = GB (Giga Byte). 2. @y TB (9500 @eend) = ___ GB (=1oo
(D ooed). (1D
The cells from F2 to F15 of a worksheet | 3. &0 aides aulgled F2 oyocs F15 awowmyss

contain the scores of some students.
Write a function to find the number of
students in the above range who scored
70 or above. (1)

coemil@d ailzodioleg)0s 20366 GOalNa|S)
OGOl aN). B0} aNoWIaHUM DaleIUTla]
70 80 @ 2)egleeld H1SlAd ag)®

@

DA B b,



4. Name the smallest unit of a worksheet. | 4. &0} adssaIgloel agqane 6210l W)
M oB@)? @)
5. Basic formatting of all the slides ina | 5. &0} (V@M O3B og)Ll0 HOAVAL)H
presentation is controlled by 8)65W)0 GNIMIlS Ganodmoglod’ Ml
() Gradient (b) Wizard H9)aIND @OOP al0WIMAUDI@3 o@®osm ?
(c) Slide master  (d) Hypertext a) elousloag” b) aflqyodas
1) €) ooaul aoqyd d) ©6a09]3 o5& QY
@
6. Classify the following software and give 6. ©00% NASIVIGEHAM EIM0aSGHIVOHOS
suitable headings: allallw ®eeeng)esSled ®oomIdle o |9m)e:.
Corel Draw, GIMP, Photoshop, Corel Draw, GIMP, Photoshop,
InkScape, 3D Studio MAX. g)) InkScape, 3D Studio MAX. (1)
7. Pick the odd one out: 7. »)SODI0E GalEIOMD af)S}e0 D).
(a) Blur (b) Shear a) ed b) wilwad
(¢) Flip (d) Scale @) ) ad glaf d) aSem0l@d (1)
8. Identify the communication device that 8. scomoomlenss o emJaden)®»es
connects two networks of the same type o3 sruawloflen)am Dald0smom1e]
using the same protocol. (1 Gal@ BONEOM)b. g))
9. Write the various parts of the given | 9. ®oeoe ma¥alwlgss URL aoiwqilem
URL @) aflallw BOWEBBU ag)Py®)b:. g))
http:\ \www.publicschools.org\index.html http:\ \www.publicschools.org\ index.html
10. Full form of ISDNis . (1 10. ISDN 6@ andsmolalo a))md. (1)
11. Match the following (2 11. ¢210)0aIS] Gal@ER)d: 2
(A B C (A B C
1. GIMP |a.Nonimpact | i.Scanner 1.GIMP  |a. Gnosm soalods|i. ala:omd
2. Output |b. Input device | ii. Inkjet 2. 8vgan5 |b. 0mBays .o 0Rg
device leoamd|  alleeaiad
3.0CR |c. Volatile iii. Graphics 3.0CR |c.cangeeqod iii.(0oadlasad
4.RAM |d. Package iv. Memory 4. RAM  |d. arcee= iv. e2ond]
12. Draw the block diagram of the | 12. &g e:xxuysilen @eskrunom ceisesaBud Q0]
functional units of a computer and label BOUEBBUS BOSWOBEIQSYODNS>. 2
the parts. 2
13. How many symbols or characters can be 13. 8 snilg ASCII ¢£:0U)a160001a] ag)l® @
represented by 8 bit ASCII code? Now a 0B q)ailaflence? mlelalenss ofelo
day this coding system is not sufficient @OBHOEEBHBW)0 MW)ailafloeaiomd oo aumu
to represent all characters. What is the BOWo @PIOLVAIMR0EN. DD (alUdMOTID
solution to this problem? (2 2110000 MIBEBUTIHSd. 2)
14. Compare RAM and ROM. 2) | 14. RAM, ROM agamilar @oocmae ©a1g)s.

2



15. Briefly explain the need forabsolutecell | 15. aid#s su1gQ1led @@eniavelys  eoqed
reference in a worksheet with the help 0an0MAVIOMR DaIBWIWo e ailvos
of an example. 2) 2086, DBOAOVEMO af)Py®)d>. 2
16. Write the steps to insert a sound filein | 16. a0y ey (MGG MUDETE an@O
a slide presentation. 2 2UB3OS)OMIN@ af)EBOMORAT afluoz1e
L= 2
17. How do you create an image, with the | 17 @ a00omics cacaimmBd Mcen Moy
appearance of clouds in the sky using Gal0REI GMOADEIME0®9)aD G0) alli®o
proper filter tools in GIMP? w3esee) Mm@ AU ofladsd S)8)
(2) &3 GIMP-@8 eigyaoas. mldanosmomied
@1 allaicles)e. 2
18. Briefly describe the features of any two | 18. ~goo®mlenoe o0 ®oo oINS
types of wireless broadband GENIOAEIIOMIS éeM@slalldleees auigoal
connectivity. ) QllewoaHeBBUd 2@} ) PI®)b>. 2
19. Even though e-Learning has 19. o-ceemlwlal aIBe® 1)emeBUd DesmeeIeno
advantages, there are some challenges Do queailwomo allel papolglesie ¢nal
alSO. ]uStlfy thlS Statement. (2) Sg(n')ggré 9] mm‘j@z@ (mm(am]ce@gcea (2)
methods of e-Waste. (2) 6 DaloweBud ailuosaoes) . (2 Scores)
details of some employees. Write the glod afler alluosBud MOsIOIsE. 80)
steps to calculate DA and Salary of 80anlavlod emoeill ©a1QMAIB}ES Gald)o
employees using formula. DA is 40% of @PSITLNAOMUDENIZAL0 GRS SO Tl
Basic Pay and Salary = Basic Pay+ DA. D} @RIV Gan0B2IE! DalEWIV]y
agepaimyesoe DA, Salaryegamial eenz)
adlslesym@inss olo)] allaicles)d.
[ | A B C| D [ |A B C| D
1 | Name Basic Pay DA | Salary 1 | Name Basic Pay | DA | Salary
2 | ArunR 8000 2 | ArunR 8000
3 | Mohan K.P | 7000 3 | Mohan K.P | 7000
4 | Divya AR | 9000 4 | Divya AR | 9000
5 | Jose 6000 5 | Jose 6000
3) )
22. Explain any three different types of | 22 MWotalbanld croadfoaiooled eigyaow
charts available in a spreadsheet and cGODB N0 B)T B0 21085)B08ag) aflal
also give suitable situations where they Glee)d. @Al PalEWOUla] WIQ @RalWLA]
can be used. 3 $6)aN aflel CUBAEEEBUD )Y b, (3)
23. How do you insert the picture of abird | 23 GMP 6] @0BAATIGS 630) alerl@)es » lmo

in the canvas in GIMP? Also explain the
way to create a picture with two birds
facing each other. 3

D066 |S;EMANG ag)eBBlaMm? NS aldtdko>ud
2611026 o BMIHHMMAIDIVI@3 2 ili@o @O
OMBBOMOWMY 0 ANlQIGkES)d>. (3)



24,

@)

(b)

25.

26.

@)

(b)

27.

28.

29.

@)

(b)

Answer any one question from 24(a) and
24(b).
Differentiate between Subtractive and
Additive colour methods in GIMP.
3)
OR
Explain any three Distorts in GIMP.
3)
Write any three advantages of computer
networks. 3
Answer any one question from 26(a) and
26(b).
Describe the activities happening while
we browse the Internet using a web
browser. 3

OR
Explain any three common threats and
their solutions that affect Computer
networks. 3
e-Governance has many benefits. At the
same time it faces some challenges also.

Justify. )

Compare any four network topologies
in terms of merits and demerits.  (4)

Answer any one question from 29(a) and
29(b).

Identify any five input devices used
with computer and explain each. (5)

OR
Explain the different types of software
used in a computer. ©)

24.

(@)

(b)

25.

26.

(@)

(b)

27.

28.

29.

(b)

24(a), 24(b) apan ea10336BS1GI BO®
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Y0 21 . 3
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Answer Key

Qn. Value points Score Total
No.

1 | School is East of Hospital and West of Bank 1

Or any correct formation of information. 1 2
2 |1TB=1024 GB 1 1
3 | = COUNTIF(F2:F15, ">=70") 1 1
4 | Cell 1 1
5 | Slide Master 1 1
6 | Raster Graphics Vector Graphics

Gimp, Photoshop Corel Draw, InkScape,3D Yot 12 1

Studio Max

7 | Blur 1 1
8 | Bridge 1 1
9 Protocol, domain name, file name 1 1
10 | Integrated Services Digital Network 1 1
11 | 1-d-iii

2-a-ii Y2 x 4=2 2

3-b-i

4-c-iv
12

Memory
C CU
Input " P ALU » Output
U Registers

13 | 256 characters can be represented using ASCII. 1

Unicode having 16 or 32 bits can be used for representing more 1 2

number of characters.
14 | Two features for RAM 1

Two features for ROM 1 2




Answer Key

Qn. Value points Score Total
No.
15 | Use of absolute cell reference. 1
Correct Example. 1 2
16 | Each step carries V2 score 4 X 2
17 | Each step carries Y2 score 4 X 2
18 | Features of any Two wireless broadband connections 1x2 2
19 | Two advantages. 1
Two challenges. 1 3
20 | Explanation of each disposal method carries 1 score.
(Only names of disposal method ( %2 score each)) 1x2 2
21 | Steps for DA calculation (Correct formula) 1%
Steps for Salary calculation (Correct formula) 1% 3
22 | Valid explanation of chart or graph carries 2 score each. Y2 x 3
For identifying the area of application, 2 score each. Y2 x 3 3
23 | Step to insert an image 1
Applying flip tool. 1 3
Applying Move tool. 1
24.a. | Each difference carries I score 1x3 3
OR
24.b. | Explanation of Distort carries I score each 1x3 3
25 | Any three advantages/needs of computer networks 1x3 3
(1 score each)
26.a. | Each step carries V2 score Y2 x 6 3
OR
26.b. | Each threat carries 1 score 1x3 3
27 | Correct benefits and challenges 3 3
28 | Correct merits and demerits 4 4
29.a. | Identification and explanation of any five input devices
(1 score each) (Only name '2 score each) 1x5 5
OR
29.b. | Correct explanation of different types of software.
(only names "2 score each) 5 5




